EH =5 (m, molality) : 18 &4 1000g2] &0f & 1=
AsdUE, ZULdY HEH, AfFd5F Ard
e 2AE SR oF S

(B5E =UEE - A0je Bup 2o mhat | o2




9] = (density) ] HAF - 2= 2 HEAF| L ub

Y S LEAIM o o] 25
20°C*AM g/mL, g/cm3 = H
(1 mL =1cm?)
H| = (specific gravity) : & &3 2] 4] & H|
S e o
HE goc2| U 212 2] HEF
o ¥ 20°CIAM 2 E M ZEF2] v
> 4cel gx NE2 2 st
YL v UH,




+ 4 &= = (analytical molarity, C) : £ &F E3 2 ZE
k1l s B
¥ = (equilibrium molarity,[X]) : & FAAM &7
SHE 2 =k - 67




At g B WAL S B 1ML ol x US4k
Lotef 3ot

M X mL = mmol

@ige FEiA FE mmolg &2
ZOH| Al mmol2t 2= A10|CH
Mz zrgas X ML gz
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0100 M £ 1 LE ZAsk= 4 %.0% (100 g £9), I 1.831 gem’®]
A% 34t 2 ml7t 8 837}

P



Z0|

L ow’=1 mLeka AZ3td 2g gahgd 1 g Fole

235, £ ZAE 1831 gmly} B F 4o & £ | mL o
H,S0,9] g&7} Hot-.

v — (0940 g HySOy/g §-91) (1.831 g/ mL.
98.1 g/mol
=175 mol H,SO/L &9

x 1000 mL/L

0.100 M &9 1 LE ZA 37 Yalre 28 4549 HS0,ES 35}
FHFgAo| EgtE oo gt} mmol = M X mLo] 1L, B3 F3 o} 53
7] A9 A3 gate] Wl &4 gong
0100 M x 1000 mL =175 M x x mL
x =571 mLe] A3} 3RS 1000 mL E3]W dc)
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FE AR T 72 IS BH37] st o] BES 847
SHAIAA EF3HeRl ¥z A%t . o FEL o 5% 7
Z22 ot ok 5 g AlgE SelAl7| A3 A AR F 100 mLz
s A3t5iTt. oA 5994 FH|& o 3 x 107° M 249 AP7h 24 o] &
A7 M8l S st 2 Sd2 v FHst F3lok sherl?
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£0|

o] £ale 005x5 g A& =025 g Mng gt} o] AL 025 g (55 ¢
Mﬂ]ﬂ])lﬁodﬁqﬂl_x 107% mol MnO, /100 mL = 4.5 x 1072 Mo &gatc}. 3 x
107° Mol tlgld = 45 x 10743 x 1073 = 154) E3of st} v 227}
100 mL &) FeAaE 7HA 2 ot

45X 102 MxxmL=3x10"° M x 100 mL
x =67 mL7} 100 mL2 £3|= o 2 a3t}

A8 Iz e Aol Bedne $7t H3e 10 L e
AL 45 X 107 M ZR7P] 24 o] o] Hrk
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5.1

0250 M9 K,Cr,0; &0 2HE 0100 Mo &9 500 mLE ZA| 821 3
t}. 500 mLZ %3|7] 9 AHE 0250 M £e] E3]E dulelz}p

e



Myz X mLiyz = Mxye X mLye
0.100 mmol/mL X 500 mL = 0250 mmol/mL X mLj.

Ly =200 mL

P
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050 Mo OH™ &9 ZA 87 YailA= 030 M NaOH 50 mL &9
040 M| Ba(OH), €0 Yvj} A7t o} g7}

e



s

050 Me] OH™ &942 ZA35l7] Yaix= 030 M NaOH 50 mL £l o
040 Me] Ba(OH), o] rht H7tslo} a7t

£0]
x=mL Ba(OHpz FH HF FI& (50 + x) mLo[th.

mmol OH™ = mmol NaOH + 2 X mmol Ba (OH),
050 M X (50 + x) mL = 0.30 M NaOH x 50 mL + 2 x 040 M Ba(OH), X x mL
x =33 mLBa(OH),



